Twin Over Twin Bunk
Bed with Trundle

Twin Over Twin Bunk
Bed with Trundle

Item Description:




A

AS

/)

)

W

/

\!

N

Q

N

N

'\\
'Q\

N

A

)

A

N

/

gV

('z'

A

U

\¢

7
/’

0

00
N0
\\l\’:/%
AV
.

0
4
\4
0\
R AN\
X U AN 7/ X
A "._A S
{7
“‘\ v

9,

/

%

WY Q/
\,\(" ‘A
9

{
N

Page 1 of 22

Safety Warnings

1.Follow the information on the warnings appearing on the upper
bunk end structure and on the carton.Do not remove warning
label from bed.

2.Always use the recommended size mattress or/and mattress
support to help prevent the likelihood of entrapment or falls.
3.Surface of mattress must be at least 5 in. below the upper edge
of guardrails.

4.Do not allow children less than 6 years of age to use the upper bunk.
5.Periodically check and ensure that the guardrail, ladder ,and
other components are in their proper position ,free from damage ,
and that all connectors are tight.

6.Prohibit horseplay on/or under the bed and prohibit jumping on
the bed.

7.Always use the ladder for entering and leaving the upper bunk.
8.Do not use substitute parts ,Contact manufacturer or dealer for
replacement parts.

9.Use of a night light may provide added safety precaution for a
child using the upper bunk.

10.Always use guardrails on both long sides of the upper bunk.
11.1f the bunk bed will be placed next to a wall, the guardrail that
runs the full length of the bed should be placed against the wall to
prevent entrapment between the bed and the wall.

12.The use of water or sleep flotation mattress is prohibited.
13.Keep these instructions for future reference.

14.Use only 75" length, 40" width, and 5"-8" height mattresses

on the upper bed and lower bed.

15.Prohibit more than one person on upper bunk.

STRANGULATION HAZARD:

16.Never attach or hang items to any part of the bunk bed that are
notdesigned for use with the bed for example, but not limited to
hooks,belts, and jump ropes.

Page 22 of 22




) [0 %) h) ) 7))
9] 3 &S 3 A Q 3] O ) 3)
o Q Q Q o Q Q Q Q Q
N N AN N N < AN N AN <
IS O - Q

Components b

Step 18

5 O
/) >\\>4 \7a
& /o N
S— §
Y
\¢

How to unlock caster!
I
\

SN
¢ /g

%\\“.\ s s

How to lock caster!

Page 2 of 22

Page 21 of 22



Step 17 Enhance Stability

64pcs

61pcs

128pcs

2\ (Y

Page 20 of 22

Page 3 of 22



Step 16 Assemble the Trundle Bed Slats

Screws & Tools for Bunk Bed

Wrench i% 1pc
Expansion nut 6mm % 4pcs

Page 19 of 22

ST4.2 4pcs

c Bolt 1/4*19mm  [juwm 28pcs
9 Bolt 5/16*19mm 16pcs
€ | Boit 1/4760mm 6pcs
O ot 1/451mm 8pcs
&) Nut 1/4 8pcs
@ L-Allen Key W | 1pc
@

©

(9,

Screws & Tools for Trundle Bed

a Bolt 1/4*33mm 4pcs
@  soitiariemm [ 8pcs
©  nutia & 4pcs
O LAlenkey f | 1pc
(5] Wrench —= 1pc

Page 4 of 22



Installation Tips: Please do not tighten all the screws until the final step is
completed.

Attach the part F to legparts (A and B) with the bolts 1 as shown

Step 2 Assemble Lower Headboard and Footboard -

Attach the part F to leg parts (C and D) with the bolts 1 as shown

Page 5 of 22

Step 15 Assemble Trundle Bed Frame

(2)x8

Page 18 of 22




Step 14 Assemble Trundle Bed Wheels

Page 17 of 22

Step 3 Assemble the Frame of Upper and Lower Bed

AC

Attch part H (upper bed) or part J (lower bed) to headboard and
footboard with bolts 2 as shown

Page 6 of 22




— @x2
@ @XZ

Step 13 Assemble Trundle Bed Wheels

side of slat slots.

A\ The Lever "OFF" should

Step 4 Assemble the Bed Slats

Upper Bed

shown.Use part Y to fill the joint gap between frame and slats

Attach part O to part H (upper bed) and part J (lower bed) as
as shown

Lower Bed

Page 16 of 22

Page 7 of 22



c
=
@)
e
(7))
(7))
@®
@)
©
o
<
2
(7))
©

£ 7

f= ©

T (D)

..nm O

(7)) / =

S S

= (D)

2 ()

N / \. jo

C jrﬂ////\\ m

LL — ////V\ 2

O \ \/ \

S ///

e Y,

m\lu .I/M

M
86

(Assemble Anti-Tipping Accessory)

Step 12 Completed

rm,/., \m \ /, .4-—-" (T «Mﬁ—!

M
\A‘— , L
iy gﬁ@ il

x )

)
77~

= 7

),
\ H
A )
\V

) R\
Ov
O \\
\ \V/&/&/\\\'

N/ \
. &

Q

N7 4

..\\.\\.\.ﬁ&»ﬂ\!!!!b&\\\\.\.\\\
\

Page 8 of 22

Page 15 of 22



o— @XS
& @XS

Step 11 Assemble Ladders

Attach part Z to headboard and footboard with bolts 4 and 5 as shown

Step 6  Finished Upper Bed and Lower Bed

If you want two single twin bed, you can just attach the pipe plug
into bed legs, and then two single twin beds finished.If you want
a bunk bed, please do not use the pipe plug and just keep

following the assemble steps

Page 14 of 22

Page 9 of 22



Step 7 Assemble the Bunk Bed

Please remove the plastic plug before assembling the bunkbed

h ®x4

Step 10 Assemble the Bunk Bed

4
MO /= — ZORRN
vCam— S\

Vi

Attach the upper bed and
lower bed with part K as

shown

Page 10 of 22

Page 13 of 22



(Jw— | (1) x4

&
‘V.\

%
X
\‘.’ |74
/5 A
X \/ A
i < Y
\/ |
1 A
X 4 X Y O
4 < Y,
& 4
\

Step 8 Assemble the Fence for Upper Bed

o) /K
Q \\.
Q A
| . %
Qo i / A D
(e W s\.o o-\\\. / )
@) 798 o WV
—— - | &» \ /o -
8 IR 4\,\,\ ) <
” i\w&o 7 44 M
) : W% J a
© ) +
O VA 9 @
m ; -
o p ©
o > .. C
= ) ©
5 S
& , &
< Qo
o) S
| -
© A
) =
b ®
o o
)
S s
o)) 5 2
Q S ®
2 2
0p)]
< | ©
Sll®
1! =
0o
/% AN
7 i
1 =
[ 7% \\/’/n an)
A A\ A /
&» \\.//b N
y R
SO

Attach part G to part A and part B with bolts 1 and 3 as shown

Page 12 of 22

Page 11 of 22





